A
WD1

(Father=5)

(Litter=5)
(n=15)

wWD2

(Father=4)

(Litter=6)
(n=15)

WD3

(Father=8)

(Litter=8)
(n=17)

WD4

(Father=14)(1

(Litter=14)
(n=42)

WD5

| NI |

X

(Father=16) [T T T { T T [ T T | T {11 T T T T L] (]
M Ty ru

(Litter=18)
(n=53)

B
CD1

(Father=3)

(Litter=5)
(n=10)
CDbh2

(Father=4)

Litter=4)
(n=8)
CD3

HENEN |

(Father=2)

(Litter=2)
(n=5)
CD4

(Father=2)

(Litter=2)
(n=4)
CD5
(Father=4
(Litter=4)
(n=13)

(@)

404

354

30+

25+

Total body weight mass (g)

g

0 O

ODO0O00mmm

WD1

WD2

WD3

I T-Jﬂ% T

1‘1

Family 1
Family 2
Family 3

OONO

Family 4

20

Figure 1-figure supplement 1



